1 dz -e —e”'
L .
2. % = e (cost —61°).
dz 3-12¢
3. ~—= .
de 12 (31-4r)>
4 dz _ M
S 1 4xte™
dz 4 1 2
(st (a2 )
5 & ( 2 Zﬁ)sec( 2
6. dl:e sinx. 7. -1 8. 2
dx
1
9. (1 ;
(D) 1 +x°
(2)(% =3u’sinvcosv( cosv — sinv) giz —2u’ sinvcosv ( sinv + cosv) +u’ (sin’v + cos’v) ;
u v

(3)(9*2:6””[vsin(u +v) +cos(u+v) |, ?Tz:e'“[usin(u+v) +cos(u+v)];
u v

az Xy az Xy
(4) 0 =2, +9¢"fos 7 = ~2f, 2"y
2

% —2f 4976 f, + 42, +hnye S, + 1 e

2

= —dxyf,, + 257 e’fl, + (1 +xy)e”f, - 2y2 e, + xyehyfz2 ;

axay
(- Brh g e

dx F, Ay F,
10. W& 11, E%. 12, @&
13. 7R A £, n BIERRASR, id 4 B S 80E z%ﬁzﬁ%ﬁm}ﬁa@;
14. —_4xf"+2f —4xyf” :4y2f”+2f/

ay’

822 ”

15. = =2f"+g,x +g, +xy8y

0xdy -
2 2

16. (1)L§= —a’sin(ax +by) , Lf: —absin(ax +by) , Li: —b’sin(ax +by) ;
ox x"y dy

PR L U DR SR

o’ <1—x2y2>3’f’xf’y VA=2)T  -dy)”

9 .
<3>67’§=2y<2y—1>x2~ ’

o
OE gy l)(1 +2ylnx) , f=4x2}ln2x;
(9 ady dy



(4>82792¢:1ny(1n2f—1) w0z :lnxlny+1y1m &:lnx(lnf—l)ylml

ox x " 9xdy xy ay y
17. W& 18.2, 4, 0.
O u
19. dyox =fy +xfoy +XYfr +22y2 5 + 35 + 23 +5YZ fr s
9 u 2 2
78z8y:xf3 2y + XY 5
o’u 2 2
E)xaz:ny +xyf13 + 5y [ Xy o5
2
20. 2%:4902]”(952 +y +2) 421 (&7 +y +2).
%
2 P
21. W% 22. dy _ _bTx. 23. dl:y[COS(M/,) £ 2x].
dx a’y dv  x[x +e” —cos(wy) ]
4 dy x+y hs 02 _yzi= Vayz 9z w2z =2 xyz
dv  x -y 0% «/xyz—xy’ aay  /xyz —xy
26 9z yz 0z «az
" ax @ —xy Y e —xy
27 0z _azy—x Jz _axz-—y
Cox z-axy’ 9y z-—axy’
PR S -
Cow x4z 9y y(x+z)’
2
29, dz = _idx_Lz;z
x 2xyz = 2xy z +y
30 dy _ x(6z+1) dz_
Tdx o 2y(3z+1) 7 dx 3z+1°
ou xu+yv du _xv-—yu Jv xw —yu Ju xu +yv
31'87:_2 25 4T 2 25 4T T 2 25 40T T 2 2.
T4y 0y xT+y 0x x" 4y 0y x"+y
- %_4%«/2—2«/53(}’_”2 %_2«/;6(}’_”2
Cox 2.)z+¢€ T Ay 2.)z+¢€ '
sy Qg =) —fe g (L-f)v'e +he
Coxn (ofy - 1) (2ymg, = 1) —fogy T ax (1 =of) (1 -20yg,) —fog
82 2 2z 3 22 z
z 2yze" —2xyz—-yze
34. — = . 3 .
dx (e —xy)
2xF
35, dr= - 2qp—Zdy. 36 XLy
vk, y dy 0z ox
37. B %
ax  dy
dx y-z dy z-=x du siny ou — COoSv
38. 1) =+, L =", 2) = , = .
dz x-y  dz x-y dx  e“(sinv—cosv) +1° 9y e"(sinv—cosv) +1
v cosv —e" v _ sinv + e"
dy ule"(sinv—cosv) +1]7 dx  wu[e"(sinv—cosv) +1]°

’ 2

’




